Installation Instructions

05-11-2020 (Issue 1) Tools Required |

SC117 —c s

Spanner to match )
device fixings 6mm (15/16")

Parts List |

>
)
% Power Drill

3”Clamps 1] Deck Flood Light| 1 | Deck Flood Light| 1| M8x50 bolt 1]

@ | & | @ ®

M8 Washer 1] M8Nut 1] M6x20 Bolt 2] M8x50 bolt ' 2| M6 Nylon Washer 8| m6 Bolt Covers [ 4]

—

Please note the use of
spacer washers

=

Drill g6mm hole in
UPVC cover strip for
cable routing

Share your installation with us.

vy © f in O

@scanstrut
For further installation
UK & International and warranty information USA
+44 (01392 531280 please visit: +1 860 308 1416
sales@scanstrut.com www.scanstrut.com usasales@scanstrut.com

SCANSITRUT




